2.1- 2.5 Using the Sine, Cosine and Tangent Ratios to Calculate Lengths

Vocabulary

g.ngl; Qf illQll'ﬂd‘h'Oﬂ, : An acute angle formed between a line

e or line segment and the horizontal.

horizontal

izontal .
ho";o ta _m_gk_aLdgmn_on_ : An angle formed between the

horizontal through eye level and a line of sight to a point below eye level.

ne
sight
. thon : An angle formed between the
line of <
S‘SH horizontal through eye level and a line of sight to a point above eye level.
Ko
horizontal

Find the length of ¢ to the nearest tenth.

4tand: O c = (Xs.2)
A tanSo’
s 52
< ‘e_S.
- tan%0 2 1.1918
I «* ¢ 2 w.3u3

Find the length of fto the nearest tenfh.

cosO: A f: (16.8)(cosS5’)
H ]
cosss” = _f « (16.8)(0.5736)
— l\‘ |
= 2163
€ opp- g z 9.636
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3 ¢ 14.8em ») Find the length of ¢ to the nearest tenth.
tan0:= 0 c = (1(4.8)
hyP 3-'0 ¢ . . A +M 57.
- tan 3T = 4.8 s 48
€ | [ c 0.7153%
= 19,640
4 D Find the length of DE 1o the nearest fenth,
h smg = 0 pE = Qi)
- DE Y- H sin2l’
opp- =sin2l'= 1L = 1
o 2 . T oA 0.3584
F od)- : 33.485

o.dJ . e
5 r
30" (s cosb= A
S —r H
A hyp. 030’ =_I
= | NN

r =(N11)(cos30')
|

Find the length of r to the nearest hundredth.

= (%.1231)(0.8660)

6. A plane flying at an altitude of 14, 000 ft sees a fire at an angle of depression of 28°. How far is

the fire2 P'M" g
opp- (+) :'\ 2 .\l:f hyp. ,
. rapey 000§+  ~ _distance = !
AQ- (u) J H. % ~ —
: ~
: ~.¢
< gin4°® = 14000 fire
| €3 H
H = (DO4000) . _ 14000 = 200698.2 f+
siny’

Practice: p.82 #4ab, 6,8, 9q, 10; p.101 #6,7,9, 10
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0.06316
H= 200700 ++ (or 2006984+
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